EARAROBEEIERT — 2 N— IBISH —F

20165F6A4H (+) sEAE1H

mc2—2 148 C2 ¥5%4m L ‘(ﬂi}ﬂﬁ ‘[%iﬂ%Fsﬁ] - | & (&) on B
[AE£] 1% :120,000  ~ 2% :28,000 ™  33#%&:11,000”  43%&:6,000H ~ 53%&:4,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. BEmth X - . — HERF (£8)
1155|270/ 0ao14—-y o4 BS ?6_; I 1 fff) REBT
R:Gr—3IUT7> Bibhy1 LAY AR
S, SRS 4t 6 | L 56.6 2-2 37.3| — 2 455 | PEE (1£E)
EH  erons e @172 (1) |EmEiE
L:JZRT7L 48— B:T7I/%Talh )1 14503%
s 44 | REEC 57.7 3-3 38.3| — 6 476 | PEE (£H)
3fz|7|7%Vaw 56.0 ®) (o1) | FERESE B
R4 TRALUN BTIRFAT v HEFHTT— L
N FIAFIR - — KEFX (£E)
N MEEE LAz A %% o Be P |mEEE
L BATATv— BXEZ—FT1Iy bk N E%5%
S5 5 : 47 | OB 58.6 5-5 38.9| — 4 459 | FEARET (1EH)
5 2| 77V —K—-oA A54.0 (4 1/2) Cr) | LERR -
LAYVT R BV ERTIA tE mE
S5 i 6 | IS 59.3 6-6 39.1| — 7 493 | REAE (EH)
6 6|7 1>7AUFY 54.0 ) ) J P N
L:on7x BN ITUH— HE B—
= SN o5 | AMALZ 59.6 8-7 38.7| — 8 454 | FHRPAIE (1£8)
71111 /7-7'717/77 54.0 (11/2) +1) Ei[E3/8 -
LHTI—H— BiIAF—TLIF B {53
o oo HFEA . H = HAEPALE (1£8)
glglg|r—v—=Frr it 4 El 1.(060).7 7-8 40.0 3 &0} S
R:ZZyvVzlb BINTH-F2F AR
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 5,3,7,4,2,6,8,1
43—+ — 5,3,7,4,2,6,1,8
[ RN
B OB 5 110 714K 3-5 170H B E 3-5 260M &R 3-5-7 990HM
8 B 5 100M 5-7 360M B H 523 340 JEH a8l 1,470
3 150/ 3-7 950
7 220M

ABICOVWTRDTEEERROODE. TR LIV,




